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No. of Questions/Ywt %l @&t : 60
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Note :

156)

Each question carries 3 marks. One mark will be deducted Jor e
incorrect answer.

TAIF W 3 oF 1 2| Gedw Ted I & fo70 U 37 F1ET AT

(BY

(2)

(3)

Each question is followed by FOUR altcrnative answers. Onl ONI
these answers is correct. Select the correct answer and indicate 1tin
appropriate circle on OMR Answer Sheet provided, by darkening
circle, using Ball Point Pen,

Yeleh W9 o oW ddicus IW G0 M Bl W H hdd Tk I Hel
wd g qf an @ oMW oTw-m % e T § S mwe T

el e ghd e
Attempt all questions from 8l. No. 1 to 40,
F0 G 1 A 40 FF oft W & oa F d)

Out of three parts of questions on languages (Part-1 41 1o S0 H
Part-II 51 to 60 Sanskrit and Part-1Il 61 to 70 English), attempt

two Parts. Thus, a candidate is required to answer in all 60 (5

questions only.

7 Wl F U (41 ¥ 50 &=, 51 60 HEFd d41 61 A
s § | R @ wmaredt & Y @ B FW B W W e
Fd 60 T % IW 3 B
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In a cricket match between India and Pakistan, the Pakistan team batted
and scored 281 runs. The Indian team managed to attain a run rate of
32 runs while batting in the first 10 overs. What should be the minimurr
rate in the remaining 40 overs for the Indian team to win the match?

WFA T uifeEE & dfte o e dw d, gifeem A An 3 gee afin
281 T o091 WA Y99 10 R d A s@ su A@ 32 m A m W

W|mﬁaﬂnaﬁﬂasﬂﬂﬁ%ﬁma€§q40u&ﬁmﬁnﬁmmﬁﬁ
=Tizn 7

(1) 6225 (2) 625 (3) 65 (4) 675

A city has a population of 3,00,000 out of which 60% are males. 50% o
pupulation 18 literate. 1f 70% of the males are literate, then the percenta
females who are literate is

Uk FE A FHEE 3,00,000 B OFEE 8 ouw YR @) saEed @ 50% Hi
. 70% BT WeR ¥ 79 wew "t & vlowe 2

(1) 20% (2) 25% (3) 35% (4) 45%

The speeds of three cars are 1in the ratio 5:4:6. The ratio between the 1
taken by them to travel the same distance is

&1 migm H 9 F egum 5:4:6 2 W 0 A A FH A I g
AT F A R
(1) 5:4:6 (2} 6:4:5 (3) 10:12:15 (4) 12:15:10

If Ramesh likes oranges more than grapes, strawberries more than apple:
apples more than oranges, then which one of the following is not true?

(1) He likes grapes more than strawberrics
(2) He likes strawberries more than grapes
(3) He likes apples more than grapes

(4} He hikes strawberrics more than apples
4
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afe Wy # oFR ¥ wfgwm A0, 9 d afuw wEAT aw Aoh & fes g9 T
79 fefetiad ¥ 3 @i 9@ 778 27

(1) 98 gEf & afis R e w0 2
(2) 9% T B fyF Tl R Fa ?
(3) 9% AT # fuk HI T A R

(4) 9% |43 | fus wEl we wa R

A family consisted of a man, his wife, his three sons, their wives and il
children in each son’s family. How many members are there in the famil

U i@ § U ey, I9E UEl, 3He A4 qF, Tow qF & fan § 39 uiee
di7 &= 8| 39 ufEn # fead wee 20

(1) 12 (2) 13 (3) 15 (4) 17
There are five books X, Y, Z, T and S placed on a table. If X is placed below

1s placed above T, Y is placed below X and T is placed above S, then which ol
book touches the surface of the table?

U U9 W R g X,Y,Z,T W S E Ak X, SF AR, 27 F
R Y, X % fe @ g AR T,s % Iw o R, v Fe-H gmw g9 #
F W FA R?

(1] ¥ 2) 2 (3) X (4] S

The angle between the hands of clock at 3:40 would be
3:40 9 9 A HE & = Ho gen

[li 130“ {2] ISGH {3} ]400 [4! 125:1

'f
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8, Arrange the words ETTEEN FATIEE PASSION d PAPER

; : an
(1) (2) (3) (4)
their order in the dictionary

accordin

PATTERN PATIENT PASSION PAPER - -~
; . # VeFN § FF W
0 % @ e
IIET HaTd
(1) 4, (3), (@), (1) (2) 14, (2), (3), (1)

13} 4}, (1), (2), {3) (4) (3, (4), (2), (1)

9. A train starts from station A and reaches B 15 minutes late, when it moves

40 km/h and 24 minutes late, when it goes 30 km/hr. The distance bety
the two stations is

wsh el Qmmﬂ&dmrﬂ%aﬁtﬁmﬂmlﬁfﬁﬂﬁﬁﬁﬁqﬁﬁﬁ,a
40%@%@&%@%%@24%%@3#@%?.%
30 fHei gfa der 1 i @ wedt ) W G RyAl ¥ 9 A gh @

(1) 16 km (2) 18 km (3) 21 km (4) 24 km

10. The next term in the series 2, 5, 10, 17, 26, 37, is
2, 5, 10, 17, 26, 37, *&en A I T & ——

(1) 72 (2) 50 (3) 57 (4} 62

IL. It x=+2+1, then value of x* + iﬂ is
X

! - : 1
a’hx:Q'2+ljﬁxz+—zqu%
X

(1) 6 2) 4 (3) 8 4) 2

(56) 0
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13.

14.

15.

16.
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In a mixture of 25 litres, the ratio of milk to water is 4:1. If 3 litres of water
added to the mixture. The ratio of milk to water in the new mixture is

25 #i & foow § g ok orf W oeEwm 401 ¥ AR @ fow 4 3 e
firemn s 2, @ & frew A gy o ot w1 oegum R

(1) 4:3 (2) 5:2 (3) 5:3 4y 2:1

A medical student has to secure 40% marks to pass. He gets 40 marks and {:
by 40 marks. The maximum marks is

1) 100 marks (2) 150 marks (3) 200 marks (4} 160 marks

w TR & g9 & gl T w3 % R 40% 3 WH A NETE R
B 40 3% WH Tk 40 IR A I B I B afman o @

(1) 100 ¥ (2) 150 31 (3) 200 3= (@) 160 &%

By how much percent should a trader mark his goods above cost price so ¢
after giving a cash discount of 12%, he should make a profit of 10%?

FE O AT WA T FEed 8 e yfovm s e st W fF o120
3 ¥ am oft 10% 1A A7

(1) 22% (2) 20% (3) 25% (4) 24%

A regular hexagon has a side 8 cm. The area of regular hexagon is
8 cm qrel ARG eATHeT B

(1) 96 cm? (2) 96¥3 cm® (3} 36 cm” (4) 3643 cm”
The area of triangle whose sides are 5 ¢m, 12 cm and 13 cm, is

5 cm, 12 cm 99 lﬁcm'ﬂwfﬂﬁﬁﬂ?ﬂ&?ﬂﬁ?

(1) 25 cm® (2) 60 cm” (3) 30 cm* (4) 65 cm*?
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17.

18.

19.

20.

(56}

Three unbased coins are tossed simultaneously. Probability of getting at n
two heads is

M i w som W § afvwam @ R aR @ Wi (SefaRe) 2

3 7 1 2
1) ° ’ ¥
{1) a (2) iy 13) 3 (4) 3

Coordinate of circumeentre of a triangle whose vertices are (4, 3), (-2, 3} .

(6, -1)is
s s wfmg (4,3), (-2,3) 01 (6,-1) &1 ofige & ¥z @1 Hew 2

(1) (1, -1] (2) (1,0) (3) (0,0) 4) (-1 -1)

In triangle, the sum of two angles is equal to the third angle If differe
between them is 50°, then the value of smallest angle is

fret Brysr & @ Fi 1 am AR Fm F TR 2y AR @ A w0 B s
DA R R ol

(3] 7o (2) 50° (3) 20° (4) 40"

A takes 3 hours more than B to walk 30 km. But if A doubles his speed, h
ahead of B by 1'% hours. The speed of B's walking is

30 km ZEeH % A B 9 3 W2 afuw wwa o @) fe afz A st ofy w3
FIZ, WM B A 1Y% W YE E 0T T B B F weed A onfa @

(1) 6 km (2) 8 km (3) 4 km (4) 5 km
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22,

23,

24.
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When was the Insurance Regulatory and Development Authority of Ir
constituted?

(1) 1969 (2} 1971 (3) 1993 (4) 1999
ydta d Gfams il TEm s &1 e F= e omn oy

ws

(1) 1969 # (2) 1971 # (3) 1993 ¥ (4) 1999 H

The famous book Anandamath was authored by

(1} Sarojini Naidu (2) Bankim Chandra Chattopadhya
(3) Sn Aurcbindo ' (4) Rabindranath Tagore

Y T oHens Teas grn R mm 27

(1) = g (2) AfFa TETEAE

(3) 0 = (4) gy

2018 FIFA World Cup would be held in

(1) Qatar (2} France (3) Russia (4) Netherlands
2018 Him favasy wal eF 27

(1) %at | (2) % H (3) ®=| # (4) Heets o

Singareni Coal Fields is located in

(1) Narmada Valley (2) Krishna Valley

(3] Godavari Valley (4) Kaveri Valley
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Part-1
Hindi Language
ot W
Q. No. 41 to 50
41. ‘FHEHA FHE M A=A 27
(1) W= 1 (2) fEd gm (3) BEER T (4) wfEE
42. 3V g7 HYHY 79 AN —IREeE] FegutE 27
(1) Higetierm T (2) T
(3) AETAA Fgad (4] SEIEH THE
43. ' 7 dvmenfed 3R s 20
(1) A9 YR (2) wRrZE i
(3) =g foEdt Foen’ (4) giFEET 1

44, ''wag =G Al v W
TH U qiEfda i am —fEmd Fweate @ 7

(1) ot o= (2) gfgaEe Ta

(3) wemE Al (4) forme far gm
45. W Ateen a1 e fEEs A

(1) Ee m w=" {z}rrq?frmaﬁ

(3) et A (4) iR T

(56 16
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46. HF-# =N Afeedime R H 27

(1) “a’ (2) ‘T (3) ‘faem’ (4) “aiveRr
a7. “‘mft o A Sl sfw w o ¥ 9 9 frwh wedtE 20

(1) ™ (2) Ao (3) g (@) TeEr
48. ‘farg ufier’ froht =1 27

(1) Hqr=H (2) Yo (3) qereiem (4) HEFETH
49, ®H-T g FH H WY 27

(1) T&R (2) o9 (3) 3U (4) T
50. HiA-#t Fdt g &7

(1) At (2) it (3) arcHTA (4) AT

17
156} (P.T
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91,

52.

53.

54,

55.

56.

Part-II

Sanskrit Language
HEHT W

Q. No.

I 3AE & faem: ?

(1) $qauypam (2) SFEETRTY
‘e e faem: &7

(1) ¥ (2) I
sifefady fe o foad

(1) F&a (2) ¥
meaf=qamar i

(1) FomgETE (2) TREGE
TANHTEY F4 d¢d TEgH ?

(1) TEeEEeE (2) FOEIaE
FFRE IR

(1) F93: {3) 755

51 to 60

(3) IgamiEan

(3) THILA:

(3) a0

(3) HMEEH

(3) A

(3) gt

18

(4) miferet

(4) TF:

(4) ffem

(4) FuddeH

(4) TSR

(4) et
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57. STAFUSHE

(1) Hemwe (2) THRO (3) =gt (4) Bf=H
58. W SEATT WiagATHg

(1) T (2) IR (3) T, (4) WRIMAR

59. WeTHd: FEEE = A

(1) wrerfmes (2) H9goR (3) TRy (4) HiavEE]
60. HIEEHIFHE: THHAH: A

(1) Fvag: (2) WERHRE:  (3) T (4) STEEE.

19
e (P,
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Part-]]11
English Language
Ut v

Q. No. 61 to 70

61. Identify the part of the sentence having an error in it -
The director told everyone that the issue of quality teaching
() (2)
in the institute were high in her list of priorities
(3) (4
62. Identity the synonyms from the four alternatives given below -
Panorama
(1) Broad scene (2} Deck of cards
(3) Light weight hat (4) Hohday

63. Identify the antonyms from the four alternatives given below :

Ruthless

(1) Heartless [2) Hard-boiled (3} Inhuman (4) Compassion

64. Sclect the word that can be the substitute for the given words/ phrase

A speech without any previous preparation

(1) Rehearsed (2} Premeditated (3} Extempore (4) Planned

(56) 20
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66.

67.

68.
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Choose the correctly spelt word from the given options :

(1) Receipt (2] Deciet (3) Cieling (4) Mischif

Choose the carrect preposition from the given options

They were happy to get rid such a rogue.

(1) of (2} by {3) from (4] about

Choose the most appropriate word for the blank :

He 1s so bad-tempered that he has friends.

(1} lot of (2) a lot of (3) few 4) a few

Rearrange the following jumbled phrases to make a meaningfil o
correcl sentence keeping the first and last parts of the sentences are marked
Aand F:
A. The advantages of travelling

B. customs and manners is that

C. we learn to appreciate the good points of others

D. to different places and having

E. the opportunity of observing people’s

F. and our prejudices against them disappear.

(1} BCDE (2) DEBC (3) DBECE (4} BCED

(P. T
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69. Supply the most suitable form of tense for each of the following sentenc

He 1s busy now; he a letter.

(1} was writing (2} is writing (3] has written (4} had written

70. Choose the correct indirect speech from the alternafives given below :
He said to me, “ Where do vou live” ?
(1) He said to me where he lived

{2} He told me where [ lived

(A} He asked me where 1T live

(4) He asked me where [ lived

* ok

22 : D/7(56)-
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Fafoai & fau fiyw

R AT TATLYE W RN T-TE R A TR T FEel A W W g i & o

wE I W E 0 B R oaer A oza d B w8 oo wm oA ¢ owr s

T AT AR TR A T AR 7 ) e deR we-0gE w1 3w gl
FEOIET afermEr a0 &

W T W feremwr ffm opEw owR F ffE SrmoT wm w9 Wen wmrw e §ow oena
IE o e A fewoww oz 3 @ o s 7 @ fawa = gEwm I3 S G s
I OTE F N gTarEA e aeE)

AR SRS R T S W OREAE FHY OA4W-TE T T O Sty wm v

IW VA F VNN UY W UT NV H{ENE AT w4 W ford gwr A G4 get w o
T A 2TAE B A4 AT YA w1 FE aur 7 @ 7EY sfed wrd m ol

Hic TR0 S0 TROW HIEWE @EN 09 yfEer gew 4 52 §ew (97 wE f) g v ps
H@RE 7 s T WWe Y3 & ¥ ¥EET ¥ IviewT #i ya'qﬁr -

TR SRR A @iF o whadT w FRleE g gaua g 9ned S=en 4% oF sqhi 2w #

T ;?..'!l.—.rlr' '

TFE YR 0§ WY & 9 dfevs I GF n7 & vEw Tw #F dFleve s ¥ 07w

TE F wEeyd Giw & oW 39 T4 §u #5097 UF % 9u9 yE W fod w3 AR & agEw v w

TR WSS ¥ T R e RES U A A4 W TR S TR G ogfusm g9 ow w2 wm
T R 4T T ST T S=Y T OOTT ORI

ST IO UF AN @E g e I a@gen T8 o oW 3 Al WY R v @ 99 9 o
o mElsm vfw & oA 5 TR oawt g ¥ @en 9 § U9 Fe W g9 6% A9 W

TP T BEOEA OISR R WATE ¥ AT AR T8 A9 T & osifay oamer gm o3

tiEl G TR FTA HeTFeode FWE FF A AT H WAl R 2
TR AR TR AT W SR L W SE W OgTEm FE ST

TR AT gwns TE O s W wEm w0 A 97 BEmEmem ge et 7roera



